
Aire et Volume d’un Tronc de Cône (I)
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
(r1–r2)2 + h2 + πr1

2 + πr2
2 Volume =

π
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2 + r2
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r1 = 130 nm

h = 104 nm

r2 = 52 nm1.

r1 = 75mm

h = 100mm

r2 = 25mm2.

r1 = 64 hm

h = 64 hm

r2 = 16 hm3.

r1 = 80 cm

h = 120 cm

r2 = 60 cm4.
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Aire et Volume d’un Tronc de Cône (I) Réponses
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
(r1–r2)2 + h2 + πr1

2 + πr2
2 Volume =

π

3
h(r1

2 + r2
2 + r1r2)

r1 = 130 nm

h = 104 nm

r2 = 52 nm1.

Aire: 135.918 nm2

Volume: 2.871.265 nm3

r1 = 75mm

h = 100mm

r2 = 25mm2.

Aire: 54.759mm2

Volume: 850.848mm3

r1 = 64 hm

h = 64 hm

r2 = 16 hm3.

Aire: 33.778 hm2

Volume: 360.303 hm3
r1 = 80 cm

h = 120 cm

r2 = 60 cm4.

Aire: 84.923 cm2

Volume: 1.859.823 cm3
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